==
Igck“gfﬂ'l'm

Visit us at: www.lockers.com

===
lockers,eom

Aluminum Locker Benches — Free Standing

Assembly & Installation Instructions

Thank you for selecting Salsbury aluminum locker benches. We are confident that the quality and construction of this product will provide years of

maintenance free use.

BENCH TOP

5/16" CARRIAGE BOLTS——___
STRADDLE CLAMPS ——___

SERRATED FLANGE NUTS——____ %/ /E\{\‘!;?/,MOUNWG PLATE
P

1/4'-20 SCREWS—_
~~

> _~——TRAPEZOID BENCH PEDESTAL

FIGURE 1

EXPLODED VIEW

[l 52

I.fj
Cc

LAMPING RIBS

FIGURE 2
SIDE VIEW

FIGURE 3
BENCH PEDESTAL TO END PLATE

Preliminary Notes
Basic steps for assembly and installation:
1. Place the bench top on a level surface.
2. Attach the bench pedestals to the bench top.

The bench is designed to be free-standing and does not require
floor anchoring for typical use. However, improper assembly or
placement on an uneven surface may result in tipping, which
could cause injury to anyone sitting on the bench.

The hardware provided is intended to fasten the bench pedestals to
the bench top. For 3',4', 5, and 6" bench tops, two (2) mounting plates
and two (2) pedestals are included. For 7’ and 8’ bench tops, three (3)
mounting plates and three (3) pedestals are provided.

Each mounting plate requires four (4) 5/16” x 1-1/4” carriage bolts, four
(4) straddle clamps, four (4) 5/16” serrated flange nuts, and four (4)
1/4”-20 x 1/2” screws—resulting in a total of eight (8) of each hardware
item for two plates, or twelve (12) of each for three plates.

When installing, the center of each bench pedestal should be
positioned 4" from each end of the bench top. If a third pedestal is
included, it should be centered between the two end pedestals.

Assembly
1. Place the bench top upside down on a flat, stable surface.

2. Position a mounting plate at one end of the bench top. Insert four
(4) 5/16” carriage bolts through the straddle clamps and loosely attach
them to the outer holes of the mounting plate using four (4) 5/16”
serrated flange nuts, as shown in Figures 1 and 2. Repeat for the
second (and third, if applicable) mounting plate(s).

3. Rotate each straddle clamp 90 degrees so it grips the clamping ribs
inside the bench top when the nuts are tightened. Ensure the clamps
are properly aligned with the ribs, and the carriage bolts are seated
inside the clamp slots (see Figure 2).

4. Slide each mounting plate into position so that it is centered under
the bench top and located 4” from the end. Once positioned correctly,
securely tighten all nuts.

5. With the mounting plates installed, use the 1/4"-20 x 1/2” screws to
attach the bench pedestals, as shown in Figure 3.

Complete the installation by testing the bench for stability.

Phone: 1-800-562-5377
Fax: 1-800-562-5399
www.lockers.com

SALSBURY INDUSTRIES
18300 Central Avenue, Carson, CA 90746-4008
Int'l Phone: 323-846-6700
Int'l Fax: 323-846-6800
engineering@lockers.com

Installation instructions are provided as general guidelines. It is advised that a professional installer be consulted. Salsbury Industries assumes no product assembly or installation liability.
Copyright © 2025 Salsbury Industries. All rights reserved. (04/24/2025)


http://www.lockers.com
http://www.lockers.com
http://www.lockers.com

	Button2: 
	Button3: 
	Button4: 


